
Refer to Figure A and answer the following 
questions.
1	 What is the contour interval of the map?� (1)
2	 Calculate the scale of the map and give it as a 

ratio scale.� (4)
3	 Draw a cross-section (A–B) for each of the 

following vertical scales:
a	 Where 1 cm represents 20 m� (6)
b	 Where 1 cm represents 40 m� (6)
c	 Where 1 cm represents 100 m.� (6)

4	 Calculate the vertical exaggeration for each  
cross-section.� (12)

� [35]

Activity 5	 Construct cross-sections

Figure A
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Refer to Figure A.

Calculate the gradient between:
A and C� 4×2=(8)
B and C.� 4×2=(8)
(Remember that you will have to interpret the contours to 
determine the heights of A, B and C.)

� [16]

Activity 7	 Calculate gradient

Figure A
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